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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt Any Four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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T YH-99 & fiea 8 3w v W FuiRa wme wo s
FshaR forfag |

forel o we & IR Aford |

oty & 3w

TH YT - 93 1 IR ol a1 B fordt v o & @ifsre, e
T IR T AEHH Teh B BIAT AT |

What do you understand by Realism in International
Relations? Discuss the Neo-realist theory of Kenneth
Waltz.

FHaaeea wael § gurdae ¥ T R W B 7 DT Ao
& Aa-garae fera @ e Fif

Critically analyse the Neo-liberal theory as given by
Robert O. Keohane and Joseph Nye.

g A DT M @G A% W Re W A9 -IeraE
frgra &1 e fage &)

What do you understand by Cold War? Explain various
phases of Cold War.
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e g€ A I w wER 2 7 e g€ @ R o @

= Y |

Discuss the Feminist understanding of International

Relations.
Fae Hael & AEr ewe d fEEaeEr i
Examine the internal and external factors which

influence the making of India’s foreign policy.

WA & faew Y = wnfag &= 9 aRes 9= 9=
HREI T AL FIfTU |

Analyse the factors responsible for the end of Cold
War.

M gg &t T & forg Ieerlt FRal @ fagewor Fifog |
Do you agree that the world is fast emerging as multi-

polar? Give suitable reasons for and against your

argument.
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8. Write short notes on Any Two of the following :

frfofaa ¥ @ foeedl @ w aftra oot fofag
(a) Dependency Theory
frorar et

(b) Detente

TE AT

(c) India as an emerging

T I gE W & & A WRd

(d) Non-Alignment
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